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1.3/5+1/5=
a) 3/5
c) 1/5

2.4/13+5/13+2/13 =
a) 10/13
<) 11/13

3.5/31+1/31+7/31=

a) 13/31

c) 13/30
4.14/43+5/43= /43
a) 14

c) 5

5.13/41+ [ 41=22/41
a) 9

c) 22

6.3/16 + / =10/16
a) 3/16

c) 5/8

7.9/18 +9/18 gives
a) 1/2 of a whole

c) Whole

8. Bob and John ate a pizza which was divided into 8 equal parts. Bob ate 3/8 portion of the
pizza and John ate 2/8 portion of the pizza. Altogether, what portion of the pizza did they eat?

a) 3/8
c) 5/8

Fraction -4
b) 4/5
d) None of these

b)
d)

b)
d)

b)
d)

b)
d)

b)
d)

b)
d)

b)
d)

12/13

None of these

12/31

None of these

43

19

5

None of these

10/16

7/16

1/6 of a whole

1/8 of a whole

7/8

None of these
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9.11/13-5/13 =

a)

c)

10.

c)

.8/19-7/19 =

7/13

4/13
24/31-19/31=

5/31

6/31

.31/45-19/45 =

11/45

12/45

.5/9-2/9 = /9

7
3

.7/15-2/15=5/

13

11

. /31-9/31=12/31

12

11

1/19

17/19

.19/24 - /24=9/24

19

28

b)
d)

b)
d)

b)
d)

b)
d)

b)
d)

b)
d)

b)
d)

b)
d)

6/13

None of these

4/31

None of these

13/45

None of these

4

None of these

15

None of these

21

2/19

None of these

9

10

17. A pizza was divided into 8 parts. John ate 3/8 of the pizza, Ryan ate 1/8 of the pizza and
Sharon ate 2/8 of the pizza. How much of the pizza was left?

a)

1/7

b)

2/7
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c) 1/4 d) None of these
18. Find the value of 3/9 + 7/9 —5/9.

a) 5/9 b)  7/9

c) 3/9 d) None of these

19. Ryan has 17/44 of a set of chocolates and Rodrick has 9/44 of the same set of chocolates.
What fraction of chocolates does Ryan have more than Rodrick?

a) 17/44 b) 9/44
c) 8/44 d) None of these

20. This is a whole cake

John’s part of the cake is shaded below.

He gave three pieces of cakes to his friends. What fraction of the whole cake did John have left?
a) 2/6 b) 2/8
c) 1/2 d) 2/7
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